
EXERCISE
Please highlight correct option.  No explanations needed.

1.  Assume this firm is operating in a competitive market.                        

	Q output
	TC
	MC
	ATC

	2
	 $48
	$4
	$24

	3
	 53
	 5
	17.67

	4
	 64
	11
	16

	5
	 87
	23
	17.4

	6
	128
	41
	21.33

	7
	193
	65
	27.57

	8
	288
	95
	36


 If the market price is $25 what output level should the firm choose?

A) 2, loss
B) 3, profit
C) 4, profit
D) 5, profit
E) 6, loss

2.  Farley Frozen Yogurt is a perfectly competitive firm. The market price of a frozen yogurt cake is $8. Farley sells 200 frozen yogurt cakes. Its AVC is $9 and its AFC is $2. Farley should:

A) Continue to produce.

B) Decrease production.

C) Increase production.

D) Shut down.


E) a or d, the profits are the same.

3.  Assume the market for beef is perfectly competitive. Beef producers are currently earning a zero economic profit. If consumers switch from beef to chicken, which of the following is most likely to occur?

A) Beef producers will incur economic losses in both the short run and the long run.

B) Beef producers will incur economic losses in the short run. Some producers will exit the industry until those remaining beef producers are earning a zero economic profit.

C) Beef producers will incur economic losses in the short run. Some producers will exit the industry until those remaining beef producers are earning an economic profit.

D) Beef producers will earn economic profits in the short run and there will be no additional adjustments in the long run.

4.  If P = $8 and MC = $5 + 0. 2Q, the competitive firm's profit-maximizing level of output is:

A) 5

B) 10

C) 0.2

D) 8

E) 15

5.  A firm will earn normal profits when price:

A) equals average fixed cost.

B) equals average variable cost.

C) equals average total cost.

D) exceeds minimum average total cost.

E) is below marginal cost.

6. Nature's Best, Inc., supplies asparagus to canners located throughout the Mississippi River valley. Like several grain and commodity markets, the market for asparagus is perfectly competitive. Marginal cost per ton of asparagus is: MC = $1.50 + $0.0005Q. Calculate the industry price necessary for the firm to supply 1,000 pounds.

A) P = $2.00
    B) P = $1.50
    C) P = $3.00
      D) P = $1.00

E) P = $2.50

7.  Fuel costs have risen quickly during recent years as consumption, refining and production costs have risen sharply. Supply and demand conditions in the perfectly competitive domestic crude oil market are: QS = -60 + 2P (Supply) QD = 90 - P (Demand) where Q is quantity in millions of barrels per day, and P is price per barrel. Determine the equilibrium industry price/output combination.

A) P = $20, Q = 40      B) P = $10, Q = 40
  C) P = $50, Q = 10       D) P = $40, Q = 55   E) P = $50, Q = 40

8. You are the manager of a firm that sells its product in a competitive market at a price of $45. Your firm's cost function is C = 27 + 4.5Q2.  The profit-maximizing output for your firm is

A) 3.

B) 9.

C) 2.

D) 7.

E) 5.

9. Above-normal profits in a perfectly competitive market are caused by:

A) increases in demand that are successfully anticipated.

B) increases in productivity that are successfully anticipated.

C) decreases in cost that are successfully anticipated.

D) a financial crisis.

E) luck.

10.  Credit Check, Inc., offers credit checking services to credit card companies and retailers. The following relation exists between the number of credit checks performed and total costs in this viciously competitive market:

Total Output Total Cost

0              $ 150

1,000         600

2,000      1,060

3,000      1,540

4,000      2,040

5,000      2,565

6,000      3,115

How many credit checks would the firm perform at industry prices of $510 per thousand? (hint: remember P=MC rule)

A) Q = 2,000

B) Q = 3,000
C) Q = 4,000
D) Q = 5,000
E) Q = 6,000

11.  The University of Texas Department of Athletics is the sole seller of Longhorn Football tickets. The price of a ticket to a home game is $45 for the general public. Market theory tells us that $45 is:

A) equal to marginal cost.


B) less than marginal cost.

C) equal to marginal revenue.


D) less than marginal revenue.

E) greater than marginal revenue.

12.  Just CDs Inc has developed a booming business in the purchase and sale of used CDs and used DVDs. Demand for the local college student market is: P = $6 - $0.00005Q. Fixed costs are nil, and average variable costs are constant at $4 per unit. Calculate the profit-maximizing price/output combination and economic profits if Just CDs enjoys an effective monopoly in the local market. (hint: if AVC are constant, then MC is....?)

A) P = $4, Q = 10,000, Profits = $20,000

B) P = $5, Q = 20,000, Profits = $20,000

C) P = $5, Q = 2,000, Profits = $2,000

D) P = $6, Q = 5,000, Profits = $10,000

E) P = $3, Q = 2,000, Profits = $10,000

13. You are the manager of The Blue Dragon, a new Chinese Restaurant in town. The restaurant faces an inverse demand curve described by P = 240 - 12Q. Its costs are TC = 32 + 48Q. Find profit-maximizing price.

A) $48.

B) $62.

C) $96.

D) $144.

E) $156.

14.  Compared to the purely competitive firm, a pure monopoly:

A) imposes smaller deadweight loss on the society.

B) produces an equal amount of output, but charges higher prices to cover all costs in the market.

C) is efficient from society's perspective because it has big plants and it uses the newest possible production technology.

D) will always become competitive in the long run because positive economic profits will induce competitors into the market.

E) is able to use barriers to entry and maintain positive economic profits in the long run.

15.  Paradox Dental, Ltd., enjoys a local monopoly in the provision of oral examination services in Tuskegee, Alabama. Total revenue for the standard procedure is:       TR = $250Q - $0.001Q2

Marginal costs for the process are stable at $150 per unit.

Fixed costs are nil. Calculate Paradox Dental's output, price, and profits at the profit-maximizing activity level.

A) Q* = 30,000, P* = $100, profit = $2,000,000

B)  Q* = 40,000, P* = $300, profit = $2,500,000

C)  Q* = 50,000, P* = $300, profit = $2,000,000

D)  Q* = 40,000, P* = $200, profit = $2,200,000

E)  Q* = 50,000, P* = $200, profit = $2,500,000

16.   In the problem above, what price and profit levels would prevail based on the assumption that new entry into the local market results in competitive market pricing? (P = MC)

A)  P = $150, profit = 0.

B)  P = $50, profit = - $200,000.

C)  P = $100, profit = $100,000.

D)  P = $200, profit = 0.

E)  P = $250, profit = 0.

